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4. sin 90° + cos 0° —tan 0° = A , sin 0° + tan 0° + cos 90° = B 2+ & uj,
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Zte sin cos tan
44 0.6947 0,7193 0,9657
45 0.7071 0.7071 1.0000
46 0.7193 0.6947 1.0355
@ 1.022 @ 6.947 ® 7.071

@ 9.567 ® 10.355



6. tanA =2% o, sin® A—cos? A 9] = Fotof2t (T 0° <A <90°)
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Al WZ+e] 2719 H|7F 2 : 3« 40]Th izt
2t & o, sinA : tanA = ?
@ 2:3 ® V3:2



Sopz A 9| U7} sjekg dof ohg Tt o] K2t
Ak, o] st 2ei2)7] 29 ol the Azhle] 58
Fohe?

Zhe sin cos tan
40 0.6428 0.7660 0.8391
50 0.7660 0.6428 1.1918

@® 6.428m ® 7.660m ® 8.391m

@ 11.918m ® 14.088m



9.

oh2 AHZEE ABCD oA AB = 4,
6 V13, /B =60°, /DAC = 30° ¥ o,

=

BC = 8, AD = 6, AC =
OABCD 9] Y o] & +slofat.




10.

chg o] HaAAEE ABCD
o] ¥ol7} 363 & l, BaAk
@ ABCD ©] E¥]9] Zo]i=?

® 32 @ 34 3 36

A

60°
B~ . --C
@ 40 ® 42



11. o8 293 22 BRAPAFIA A = 120° A o, B2H4 B
Zolo] A|go) ke Fahu?

® 108 @ 144 ® 196 @ 304 ® 340



12. ohg 239 aABC o4 ¥ BC o] $8& M, BC = 10, AC =
5, AM =25 o 1, AABC 9] ol Fatefzt,



13. ©hg 123} 2ol 5 tjztale] Aolv} 242
7cm, 8 cm Q1 AHZEE 9] Yol o] | Hgre?
D 14v2cm? @ 28cm?
® 14V3cm? @ 283 cm?
® 56 cm?




14. AAREA O - ABC o4 A2 AB o] H& M, LOMC = a 2 &
o], tan o 2] FH-S Lotoit
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15.

= A

® 25cm

@ 67cm

oA AABC = € O of Wit
0 o] HAolt}. /BAT = x 2t 5}

. AB = 30cm € . € O 9

@ 50cm 3 60cm

® 70cm




